(7 . 8) + 80 =
9 . 6 + 170 =
750 – 9 . 9 =
765 + 64 : 8 – 200 =

3 . 19 =
17 . 6 =
4 . 34 =
21 . 8 =

320 : 8 =
720 : 90 =
4000 : 50 =
6300 : 7 =

9 . 40 =
60 . 80 =
700 . 30 =
30 . 5000 =


(se zbytkem)
57 : 9 =
61 : 8 =
18 : 4 =
47 : 5 =

(s rozkladem)
57 : 3 =
68 : 4 =
133 : 7 =
115 : 5 =


D   569 =
S   820 =
S   970 =
T   7900 =

700 cm =              m
8 km =                  m
50 dm =               mm
600 mm =             cm
50 kg =                g
60 t =                   kg
7000 g =              kg
4 t =                     g
